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Abstract

Aging changes the political power in a democracy in favor of the elder
generations. Consequently, the retirees can extend the pay-as-you-go
financed pensions. Under free labor mobility like within the EU, the success
of gerontocracy, nevertheless, is restricted by migration of the young
generations. This connection between political voting on intergenerational
redistribution and voting with the feet is analyzed in a two-country model with
overlapping generations. We distinguish between the case in which the
young generations‘ migration decision takes its effect on future pensions into
account (strategic migration) and the case in which it only reflects
differentials in labor income (myopic migration). The paper also pays
attention to the implications of common harmonization principles and to the
consequences of price discrimination between natives and immigrants.
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:Wkhvh dvshfwv zrxog eh gl!fxow wr dqdo|}h lq wkh iudphzrun ri Kdjhq dqg Zdo} +4<<8,/ vlqfh

wkhlu prgho lqyroyhv d qxpehu ri whfkqlfdo sureohpv/ iru lqvwdqfh/ pxowlsoh htxloleuld dqg qrq0

h{lvwhqfh ri htxloleuld lq sxuh vwudwhjlhv1 Wkh| hqg xs zlwk udwkhu xquhdolvwlf fruqhu vroxwlrqv lq

zklfk wkh zkroh |rxqj jhqhudwlrq ri d frxqwu| hlwkhu pryh deurdg ru vwd| dw krph1
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;Wklv dvvxpswlrq fdq eh mxvwl�hg rq gl�huhqw jurxqgv1 Iru lqvwdqfh/ li hdfk ri wkh wzr frxqwulhv

ru uhjlrqv lv vpdoo lq uhodwlrq wr wkh uhvw ri wkh zruog/ fdslwdo h{0 ru lpsruwv dgmxvw wkh ydoxh ri wkh

fdslwdo*v pdujlqdo surgxfw wr wkh zruog lqwhuhvw udwh1 Wkhq/ zh hqg xs zlwk wkh vdph oderu lqwhqvlw|

dqg wkxv wkh vdph jurvv zdjh ehiruh dqg diwhu pljudwlrq1 Dowkrxjk wklv wudqvlwlrq pd| odvw vrph

wlph/ wkh lqgxfhg vkruw0uxq zdjh fkdqjhv duh udwkhu vpdoo frpsduhg zlwk wkh oderu lqfrph lq

wkh zkroh ROJ shulrg ri derxw 58 wr 63 |hduv dqg fdq eh qhjohfwhg1 Pruhryhu/ wkh dvvxpswlrq

wkdw zdjhv gr qrw ghshqg rq pljudwlrq fruuhvsrqgv wr hpslulfdo hylghqfh1 Prvw dqdo|vlv vkrzv

d yhu| vpdoo lpsdfw ri lppljudqwv rq oderu pdunhwv1 Vhh Iulhgehuj dqg Kxqw +4<<8, iru d uhfhqw

uhylhz ri wkh hpslulfdo olwhudwxuh1 Dqdo|}lqj d prgho zlwk wzr odujh frxqwulhv dqg hqgrjhqrxv

zdjhv fkdqjhv vrph ri wkh xqghuo|lqj pljudwlrq prwlyhv/ exw wkh txdolwdwlyh qdwxuh ri wkh uhvxowv

uhpdlqv xqdowhuhg/ fi1 Vfkrowhq dqg Wkxp +4<<9, ru Kdxsw dqg Shwhuv +4<<;,1
<Fi1 Ehfnpdqq dqg Sdsdjhrujlrx +4<;<,/ Gh Sdopd dqg Sdsdjhrujlrx +4<;;, ru Pdqvrruldq

dqg P|huv +4<<6,1 Wkhvh qrq0shfxqldu| sdudphwhuv duh riwhq uhihuuhg wr dv dwwdfkphqw0wr0krph

whfkqrorjlhv1
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43Wkh odwwhu dvvxpswlrq lv rqo| pdgh iru frqyhqlhqfh1 Lqwurgxflqj gl�huhqw ghqvlwlhv dprqj

uhjlrqv ru jhqhudwlrqv ohdyhv doo uhvxowv txdolwdwlyho| xqdowhuhg1
44Iru doprvw doo uhvxowv zh gr qrw qhhg dvvxpswlrq lll,1 Krzhyhu/ lw fruuhvsrqgv zlwk hpslulfdo

hylghqfh1
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45Vlqfh erwk uhjlrqv duh vxemhfw wr wkh vdph ghprjudsklf ghyhorsphqw/ � fdq eh xqghuvwrrg dv

wkh uhodwlyh vl}h ri erwk rog jhqhudwlrqv dqg wkh uhodwlyh vl}h ri wkhlu ghfhqgdqwv dv zhoo1 Wkxv/ �

phdvxuhv wkh |rxqj qdwlyh jhqhudwlrqv h{ dqwh/ l1h1 ehiruh pljudwlrq kdv fkdqjhg wkh frpsrvlwlrq

ri erwk uhjlrqv* srsxodwlrq1 Wkh h{ srvw +l1h1 diwhu pljudwlrq, uhodwlyh vl}h ri erwk frxqwulhv*

fxuuhqw zrunlqj jhqhudwlrq lv jlyhq e| wkh �jxuh �. lq wkh vxffhhglqj shulrg1
46Qrwlfh wkdw Gl fdq eh lqwhusuhwhg dv pljudwlrq udwlr1 Lw uhodwhv wkh vl}h ri uhjlrq l*v oderu irufh

diwhu pljudwlrq wr wkh vl}h ri wkh |rxqj jhqhudwlrq eruq lq frxqwu| l1 Khqfh/ wklv udwlr h{suhvvhv

wkh uhorfdwlrq ri wkh zrunlqj irufh1
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